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Cell Cycle:

· The cell lives in a cycle where it grows, divides and then grows again before eventually dying off. 
· This is known as the cell cycle which consists of three phases: _____________, ____________ and ___________________. 
Interphase:

· During _________________ the cell carries out all its activities except cell division.
· Interphase is the _____________ phase of time in the cell cycle. 
· Interphase has three stages: _________________________ 
· In the G1 stage the cell is growing.
· In the S stage the cell makes a copy of its DNA.
· In the G2 stage the cell prepares for cell division.  
Mitosis:

· Mitosis is the division of the nucleus into two ______________________.
· Mitosis occurs in four steps called ____________________________________________
Prophase:

· Prophase is the first step of mitosis. 
· Here the DNA that was copied in ________________ is tightly packed into chromosomes. 
· Since a duplicate copy of DNA is made each __________________ is made of two _______________ joined together at the _______________________. 
· Also the nuclear envelope __________________.
· _______________ divide and move to opposite ends of the cell. 
Metaphase:

· Spindle fibers grow from the ________________ attaching to the chromosomes. 
· The spindle fibres attach to the ______________ and chromosomes align in the middle of the cell. 
Anaphase:

· In anaphase the chromosomes aligned in the ___________ of the cell are now pulled apart.
· Two identical DNA strands, ________________ are separated forming two daughter __________________.
· Still connected to the spindle fibres, the daughter chromosomes are pulled to opposite ends of the cell.
Telophase:

· In ___________________ the daughter chromosomes are at opposite ends of the cell. 
· The nuclear envelope also _________________. 
· The spindle fibres __________________.  
· Mitosis is _________________. 
Cytokinesis:

· In ________________ the cell cytoplasm divides. 
· In animal cells, the cell is ______________ into forming two cells. 
· In plant cells, a _____________forms dividing cell into two new cells. 
